< 00, > (M)

<opyp, > ()

o
[N

<0 @> (rad)
o
o [
[ [¢)]

100

< dcotl>)

1

2 3
TPlpoT (PCA t%obeamlinélf)

i :

1

2 3
TPlpoT (PCA t%obeamlinélf)

—=— DQM_V0001_R000000001__Global__cmssw__RECO
—e— DQM_V0001_R000000001__Global__mkFitOriginal__RECO
—— DQM_V0001_R000000001__Global__mkFitNewALL__RECO

80

60

40

>

..............................

= 100

(@)
TIT T T T[T [TI [ PP T[T T[T [T T [ TTr Tt

N

[any
o2
iR

M

-

..........................

i

+ 8
4

2 3
TPlp?T (PCA tjbobeamliné'f)



	Contents
	Page 1


